€8¢ MO ou ‘0Ad :suHadowen enHHUITY
1N
€7 5 auHaT¥adh
Thaoeeee L H100AM0H BLONTM KENILDY], BHHEEOERAQO OIOHIIDIHHIOLOY 2HHAT¥adhA QOHLIMIIOIQ Q0HIUBUHITHHAA 4
099L108999 HHH
L11S0£59 Adroscod Awonros?) ou rHie ] HHHxHE erodoa uuned LOHUWINY [adALaundy sunarraedu g BUR1HTIdhA BHROWOHION 1 HHTIMHAD
g ol vgeILl HHINIOLBLE 1L021MA20 ‘Head()
20T T0°C0 eLe]f "doLHAWAIdR G01IML 9HE.101981000 o19dagodu oL “1aKa100mAD KHTINHAD KBNBL HIOT "BHIIEEHIH Aep, BHTIHAD
40101 9Z(Z ¥ 70T Youdou HIGHOHBIT H W0 $7(7 BH
1910
Al HLIOHIIMN LB -h-c-._m_QMhumﬂmonuamOUENE—:ﬁ HELIT]
(monurou exgoddumord) \Amm_r i _cm.m..q.n
h,

‘'Y BHONBINO[[

T 51
%E..;EH ooy




woadvad xixoaniLaidone enuives

00°'8L6 98t 00°T09 681 SH00€ LES £TC LYT 0992
00°000 0F1 007000 0£1 SSSHS PRI 6TE L4 EMHIHANHAU 0JONLRANONTIO HOIRURE XIHALENASLEN NiKhodU HLDOKNOLD DUHIKILDE §
cl'zec o8l Ti'scr 081 TI'z8s €81 or€ (474 (sovendarew) sosvurt xrHLodogo xuhodu NIONNOLD JHHAKILRE 5
ZOEor 91 ole FT AL2AD NITHHONDO ILLDOWHOLD MHALILDA {
00°FL9 198 00'T€9 £98 657€50 906 9T rrT lrad roged annody|
88°8LT ItF 88'6C0 £Ft Tr 116 6€6 € sic bt paLIAMAN I otneidaT00 ou Mkl 1Logeg
00°2T6 LF 00°861 8t 9T 1ET 9¢ TC FHE 19.1ed LR 219HIUBRANINOY
00°¢ET 1€ 00°€ES 1€ L0098 8¢ ITT L gs HEERD AN en iedieg
00°TPETILI 00'818 91¢L | £0°LL6 SOE € 0zt (a4 0roT 48ra8 1 1oged ‘sodeaoL Axutves oithodu
00°0TE€ 661 T 00'0Tt 90T T SPLLT €8 S X 0052 04328 “1AraK 2008d ‘sod euoL Ausvee e aroxoed
007000 € 00°000 £ 00°000 € 6T €68 0€ET UDMILBLU XITHI Hanau (NIHEILedLONHINTE aroin Wol 8) sodedim eierud
00°00¢ L 00'00€ L 007008 L 16T ze8 0TET BHHUTOU BRHHRALIARIAI0L SxoipL
00°001 007001 00001 16C 158 01€C JOUBH w._av.ard_.um u pnnecniesdo on._.uuz._.»‘..., I BH JOURH
00°009 01 007009 01 00°009 01 0S8 00€T QU208 “YHILELI X19HI 1 80d002 "HOI0rEH BLELILL
00'16€ LFO 6 00°r0L 660 6 8TEPS 1L0 01 £1T eIl Itz pizAdL ateruo OU IALEIUINE BH
00°'16€ LFO 6 00°t0L 660 6 sT'eps 1L001 611 oric 01228 “unarsednd wenniwioged
00°000 §¢ 007000 €€ 00°000 S€ 9T Il 0TIz — edarvedex osonno _:au__m:za.x u_mu:r Wou 8 “arenoadsy |miermgs annodu
00°LE0 St 00°00€ St 00°000 0§ 99z erAdy vrerno
00°TET 856 6T 00°9LY 11 OF SLOLY 0SE €€ 1z I erAdL BLeruo
00°089 $80 6€ 00°08t | 1€ 6€ €0°0TE LOS €F X 001T 01208 “AUreHOddau 19LBILIGE BH
007009 S6T 1+ 00°005 8Z5 1F 1S°L61 19€ 61 x 0002 01336 ‘TILONIEg
00°008 98¢ 007008 98¢5 007008 98¢ 051 0s1 orrl I XHNO2hHERD 1t XuxdaLuTdo 10 knnarannadau SITHTTINECAER0 21K K “knHeroaLdaxou “likeds
00°00F S9F € 0s1 0s1 01K ITHOGAD 219a21an
00°008 98¢ 00°008 98¢ 00°00T TSO ¢ 0S1 00rI 04398 "BHHAUALIOU JITHHIHIT JITHITEIN LOEEQ
00°000 LLS 00°000 LLS 00'000 LL8 €l ogl 0£TI 100ed EHHIHIOLME “IAraK XITHLELL EHHPLING 10 MYOXOT
00’008 1£8 6€ 00°00L +90 Ot 00°009 12T ++ 0f€1 0€l 01zZ1 anHamikadid 0uomARTE0d ‘knnesocedgo oJouoardu-onh ol BLaNAroIg arads
Lok BE BUHEIRE (OJONIURUNTIHAK ) 010HHIMLORIZAO0 EHHIHLOUITE DHHOKIUIZQO 209 0IHEHI TH HINTHIGND
00008 SOL OF 00°00L 16 OF 00°009 860 SF ogl 00z1 04238 “HHamkadRA 1edive NHNEIHAUNON ‘Lo0Rd 1AL KIHECENO 10 MIONOT|
007009 S6T I+ 00°008 8T It 00°008 051 6+ 0001 101309 "HT0X0Y]|
X N 2000 B0 0J0A00HEHND 013MANIL N3H0Y eh a1oradd No1eLag
16°L6E 01T X X 1000 BIOJ 0JOB0DOHEHND 0ISINANIL OUBhEH BH A1oradd NOLBLI()
3 L 9 S v € T 1
I Ty erondau osoaonery | erondau csosonery | wod WIEOOHEH N mimudatag
A ros nodolrsa ot weadau mAyaL — 20 isiedis
1970z wH L WNOH BH “a —.NGN BH _):_zuu_._—._.:_._rﬂ:fu 12001 .—._.Dl/_ ELALELENOU u.:_:—wﬂc_.UZ:NI

BWAD

ou roy

19LRULIGE 1 BHHIIUALIO] *] UaTLR ]




00'0ZZ 8ZLE 00'0Z9 146 00'009 E6E T 00’000 €9€ T 00°000 €9€ T = 00°00S 095 00°00S 208 ] 5 Ep-vy h'lg
00°00S TL0 Ly 00'00E 9SP T 00°009 €6€ T 80'206 62Z v 00°009 TZZ v 00°00T 00°00S 095 00005 Z08 00°006 T6T VE 00009999 8 80'Z0E8
00000 € 00000 € & 5 - = = 2 - - €S8
00001 = - 00'00T 007001 007001 5 = = = 158
S 00E LES 00'000 0€ - St'00€ £0S SF00E LOS - S1°00€ LOS = = e 00°0 LvT
SS616061 € 00°0Z9 116 00009 £6€ | £9'700 198 $<'669 S58 - §¢a61 €5 00°00€ TOS = = 80°Z0C8 g

3 : - = - - = = 2 a 374
00°SL0 £€0 01 00°L09 €01 = 00'89¥ 626 6 00°89% 676 6 . - = 00°F6L 1T6 L 00°PLY LOO T 6TT
00°000 S€ 007000 €€ - - “ = = = - N F444
00'€01 TLT €€ 00°€LO EVE = 00'ZED 626 TE 00°TE0 676 TE€ E = = 00901 0LT 9T 00'926 8599 11T

00'008 097 T : =
00005 v = z

00°00S TLO L 00'00E 9S¥ T 80’206 622 ¥ 00°009 TZZ ¥ 00'00T 00005 095 00'005 208 00°006 T6T VE 00009 999 8 80'Z0ES 0101H
00000 € 00000 € S = 26T €58
00°00T 00'00T 00°001 007001 162 158
S¥'00€E LES 00°000 0E S¥'00€ £L0S Sr00€ LOS CH00€ LOS 144 LY
00'000 OET 00'000 OET = = 6VE
71788 €8T ZT'ZET LYT 00°0SL 9¢ 00°0SL 9¢ 00°0¢L 9¢ 9ve

- - - SYE

= 2 = e

s s = = 0TE

i = = Dgs vz

& . - 82¢
95'T¥F8 8LTT 00'565 IS 000082 95'9vZ PLE 9SOV LE 9S°9bT tLE 97z
Zr'TIT88ST 88'768 HET 009ETTT VL'EL6 LEE FS'819 FEE FS8I9 FEE 0Z'S6ZE L T44
00000 ST 00°000 ST 00°000 €1 00°000 €1 £22
SS'66T 8E 9Z'IET TV €C'661 8¢ €C661 8€ TL'TEOE OTOEZT
06'v88 95 = £0'098 85 06'T88 9¢ 06°F88 9¢ LT'SLET 1ee

- - - - 97¢ EVE
00'SL0 €E0 0T 00209 €0T 0089V 626 6 00°89F 676 6 00°t6L 1T6 L 00tL9 L00T €1¢ 61T
Suooo SE 00'000 S€ - - WMM Z1T

- - - - 997 [413
00'000 05 - 00'000 05 00°000 0 007000 6§ 00000 11 99¢ I
00'S0T ZZZ €€ 00'ELO EVE 00'ZE0 648 TE 00°TE06L8TE 00901 1£79¢ 00976 LF99 T1e

000008+01011 01014 MHOWQL 00MWOT 000WOT Apswot 00EWOT 000008 Asson day

o |

tZ0Z'Z0'S0 BH
€ ou enaoddumoey
TUMT O AW




2504 HAIO™3

rowﬂabbzmkilbm
PONO »

V . i
) 1
i
: < S )
“ e % A
m (nonurou exsoddumord) = & = i S m
m eunmnndy ‘gD P M\ '
i
m (sraunradni-envado enuw oaonnat % - m
i e ] ik erodod numedionnanwry mdardy simareedud dunarenep| Q\ 1&. " !
: % ;
. J

(notharar) (rwennumn ‘sumwed)
§TS-LLG ¥ eaocodopy
exgoddmmord) (9onurou)
(snnamEadnA OTHI 20HHSHONOHIOUL)
gV EaoNEWO[[ -
¥nHaRkadhs araLiroaodiy
00'0Z€ 661 T 00°0Ct 90T T SFLLT EF8 S 001692 / nvuiyes prenen AKol ou avonn woLa| g
000ZE661 T 00°02F 902 T SELLT EFS C f,,r..\u\.x.... 00059z - _%M,T;mrc\ ou ‘gt BN’ WOHON . wianaredarag 2 L5 R Aros womoonenud| 7
00°029 16 00'029 126 0F'SLS 900 | [0TSR LT S E£dr-bb S NOHONED WISHIRASTaE; 3 1HALALIEI003 8| 1°E
] ‘2raHK WaL g
00°029 1L6 00°029 1L6 0F'SLS 900 | 00st9T ENHALAUI300 01080dHEHI] 40MIHKOLON X1hodu 1ok vE| G|
00°0 000 00°00F §9F € pzot 0ITroT Eh-t SN WOHONEBT WIHAUBAO A D MNa1o1aa1000 6] ['TH |
‘2Udih WOL 8
00'0 00°0 00°00% SOt € 00TH9T ninedarag HONOHINDI0] RONATON QIOHLANTOIG ['§/ Nalewd| ¢ [
| BINHAU Wi9doLE WATIEEOR 2 MHELILAALOOD 8 X19WAKIERL0TadY HHIo0KD 1ahD 2o
00004 LT | 007008 FET 1 00000 €9€ | rZoz 0119z £D-F b BN WOHONEE WiHALRAAT ) 3 MNALILIAL00 8| |7 [}’
PUDHKE WOL |
00°00L LTT | 007008 FtT 1 00000 €9€ | 001+92 EMHETEE QIOHIURUMIIIAN [ b7
DUDih WOL 8
00°0TE 661 T 00°0TF 902 T OF'SLE VER S 000t9T 04308 ‘EP-£ET N BHONEE osonaedaragy ¢
W ED-t+ N eHONEE auonaredarag yiHeaogadt Wolshd 3 Aros wWosooHeHHp
WIMOKALILZALOOD § OIMHIKOINEE ¥ Wiwakdiueiry “(Wedosolor) weredinoy ou
000 000 80°T0E 8 £20T 010£92 01208 "Ep-pt N WOHONEL WiHIURdITa) O NHELdLaa1000 6] |'¢'|
DML WOL 8
00'0 000 80'TOE 8 000£9T -£27 N eHONEE 0a0narRdaragy i St N BHONET ouoHaredarach uineaooadt wotons| ¢
IDUDHE WOL 8
00°0ZE 661 T 00°0ZF 90T T 8ELLT EF8 S 000092 01208 ‘18128 "100ed ‘mod pAOL ANUANBE BH 19LBILIE 1
8 2 9 S r I t € 4 1
S — LTS D erondau otoaoneLn rod wingdanogy
. roa podos roa waadau WEMB0IHEHI IHIMANAL HONIUHAIOY LN PE modio
niweraradu ee e i 1 yzoz eM mimesndguoaery P e EUDLECENOU SHHEIOHIWIT] 1/11 Gy
HOHIDWTOIG .
BRINAD) QUTON

14104 “Loged *godeg0L NNUANEL BH WELEUHIGE 0L BHHILI4)) 7 UITLE |




00'0ZT 8ZLE 00029 146 00009 €6€ T 00'000 €9¢ T 00°000 E9E T = 00°00S 095 00'00S Z08 - = , bbb hLa
00°00S TL0 Lt 00'00E 95V T 00'009 €6€ T 80'206 67 v 00009 T2ZZ v¥ 00°00T 00005 095 00'005 Z08 00°006 T6T VE 00009 999 8 80Z0E8
007000 € 007000 € : Z E g 5 E = 2 £58
007001 B - 00'00T 00°001 00001 s = = L 158
SF00E LES 00'000 0€ - S¥'00€ £0S SE00E LOS B SH00E L0S = . = 000 LYE
SC616 061 € 00029 1¥6 007009 €6€ 1 £9'T00 ¥98 §S°669 S58 G <66l €S 00°00¢€ 208 . E 80°70E8 (474

= . . - 2 E = - . » {3774
00°CLO £€0 01 00°L09 £01 = 00’897 626 6 00°89% 626 6 - 2 = 00°F6L 126 L 00FL9 LOO T 6TT
007000 §€ 00°000 S€ & = : E z = : E fans
00°S01 TLT £€ 00°€L0 £F€ = 00'CE0 626 ZE 00°TE0 6T6 TE = = - 00°901 OLT 9T 00926 8599 I1T

00'008 09% T = E
00°00S ¥ - -

00005 T£0 LV 00°00E9SP T 80'206 62T vt 00009 TZZ v 00°00T 00'00S 095 00'00S z08 00°006 16T VE 00°009 999 8 80°70E8 0101H
00°000 € 00000 € s = 762 €58
00°00T 00°00T 00°001 00°001 162 158
S¥'00€E LES 00°000 0E S¥'00€E LOS SH°00€E LOS SH00€ LOS €22 LTT
00’000 OET 00000 OET . . 6VE
Z1°Z88 €81 ZTTET LYT 00°0S£ 9€ 00°0SL 9€ 00°0SL 9€ 9vE

} . S SvE

- - = 443

- = = 5 (0] £3

= - = 062 bE

= 5 & 87z
9S'TV8 8LT T 00°S6S ¥2S 000082 95'91Z vLE 9S°9pT tLE 9S°9rT FLE 97z
ZV'TIT88S T 88'768 6€T 009€TTT YL'ET6 LEE FC8I9 tEE PC8I9 vEE 0Z'S6ZE Y4
00°000 ST 00000 ST 00°000 €1 007000 S1 £2¢
GS'66T 8€ 9z'IEC IV CC'661 8E €661 8¢C TL'TEOE 0T0£22
06'788 95 = £0°098 85 06°t88 9¢ 06°+88 9¢ LT'SL6T 1ee

- - - - 97¢ Eve
00'SZ0 €E0 0T 00'£09 £0T 00'89v 6Z6 6 00°89t 676 6 00't6L 1T6 L 00°+L9 LO0 T £1¢ 61T
oouooo SE 00°000 SE v - wmw 711

- . " - 99¢ Zi1
00’000 0S £ 00°000 05 00°000 0€ 00°000 6€ 007000 11 99¢ T
00'SOT ZZZ €€ 00'€L0 £vE 00'ZE0 648 TE 00°TE0 6L8 TS 00°901 1£7 9T 007976 L9 9 T1¢

000008+0101H 0101H MHOWOT ooMwoT 000WOT Apewot 00EWOT 000008 Asson dax
1 ¥Z07°70°S0 EH

€N ou exsodpumoey
TUMT OT AW




00000 £9S

%0'00T 00'000 £9S
%461 00'0ZE 06 hodu
%E°¢ 00000 O €2
%8'8L 00'089 9t ETT'TTIZ
1Hanodu I'xdU ewwAd Dou

IADA 319H LR UL

0'00T
144
o's
86

00°000 £48

00°000 0t
00000 0ET
[AW XA

00'000 98T
88'€6E 1

00'£09 €01

DO'ELD £VE
0ET Q294

0F'SLE 900 | 007000 01€ 00°00€ [+€ o6t 9l 00°0Z€ 0T 1 5 Ed-th hlg
£F'S6E BSY | SS'CrS £ 00'000 01€ 00°00€ 6LS 0'€6k 91 00000 L9S - o10Ln
00000 € - < 00000 £ 5 = = £58
00°000 0€ i = = E 007000 0€ z L¥T
OF'SLS 9L6 CCCHE ¥l 007000 01€ 00°00€ 1+< 0°<6t 91 00°0€ 06 - e
K = * - = - - €1z
8T'SLE TF) g e - - 00°L09 £01 = 611
00°000 SE - z 00°000 €€ = & - T
SLPFF 1LY = - 5 . 00°€LO £PE E i
00°000 LL8 00008 988 T0'€6T £09 00000 L9S
£r'S68 S99 1 SESrE FI 00°000 01€ 00008 985 T0°E6T 91 98950 1L1 00°000 L9S = 01011
00000 € 00000 € 767 £58
00005 L 00°00€ L 16T 758
00°000 0€ 00°000 0€ [x44 LT
SE'SHS K ceicre vl 007000 0€1 6t
TI'TEL LK 007000 O€ 00°€0T §L TULT6 I 9rE
. Fre
= [
0°€6Y 91 Z0'E6F 91 01g
87T Frz
€8°11€ 8T€ 00°000 051 00°€6S 8€€ £8'916 € 00'000 9¢ 97T
88768 6£1 00°00¢ LTI 88'T6E Tl - STT
= - £77
- (444
= 172
. = 821
= = s £+
8TSLETFI 8T°89L 8€ 00°L09 €01 4 d 611
00°000 S€ 00°000 €€ 9zt N
= iz 11
5 997
SL'FHE ILE SLILE 8T1 00°€LO €FE 11z L
010LH 190 199dANHON DET 192dANHON 0ST1 sodgot U7 ou 1o DET @19HLBVU 0zZ1 erHade A120N dax
1 yZ0Z'Z0'S0 EH

MII0HAUDLEBY YOXOY YBMEBI0HWAL' KOHU 1 oMU LewrHMdUYadu ou exgoddumoey

T mmy

or A9W



00'00% S9¥ €

00°00% S9v €

Eb-vb 'h'L8

00'00Y SOV €

00°00% S9v €

- - €S8
“ &) S8
- @ LvE
00°00F €9 € 00°00F €9t € e
3 - EvT
7 - 6TT
= - (494
= = i1t
00°00% S9v € 00°00% S9V € oloin
= Z6T €58
= 16¢ 158
= €72 L¥T
N bVE
= o9tE
< Sre
= PrE
= 0TE
= 062
- 87z vve
. 9¢¢
00°00% €9% € 00°00¥% S9¥ € T d
= £
= 0TOEZT
% 2T
= 9te 5 74
- €T¢ 6TT
= 9¢e
- 717 ¢TT
= 99¢ Tt
= 997
- 11z 111
0101M osonol Aldon day

eH

£IN ou exsoddumoed
TUMT OT A9




